Rekenzoeker 33?*

5|1 9 (3|1 2 |1 1 2 |1 2 4] 2
353106201 9161|410
7191342 ]3] 212131210
oo 7120|6047 ]9]6]|14
3| 8 | 1 5| 7181413141921
1 2 | 3|1 3 5] 9|1 4 1 8|1 0| 2
9 [ 1 9 [ 1 9O [ 51 1 /71919 2| 2
o | 3 (7|41 2195|4848 2
2 (3141652378024
7 |1 8131819191 3|13|7]0]3
O | 43|24 |1 3|4 |1 9O (2| 7
6 | 4 [ 1 0|16 | 0| 3| 7]2]|]6]0]4
(ichtbiawn) | 6% 6= | e | 7X7
o) | 5X8= et L s | 9xo-
gy | 6x3= e | 5x7=
(donkerblauw)| 4 X7 = o oen| 8% 4=
(ooy | 8X9= oy | 9%6=
ooy | 6%5= 2o | 7xs8-

Klaar? Oefen 10 verhaaltiessommen op www.verhaalsommen.nl. Daarna mag je een rekenspelletje spelen!


http://www.verhaalsommen.nl/

fintwoorden ,O *

51 9 (3|1 2 |1 1 2 |1 2 4] 2
3 | 5 6 | 20| 1 O1 6| 4]0
7191314/ 2 1 2 | 2 -I
O (0| 7121|020 o4 |7 |9 6/|4
3|18 | 1 5| 71814131419 ]2
1 2 | 3| 1 3| 9| 9|1 4 | 8 2
9 [ 1 9O [ 51 1 /71919 2
714121935148 ]| 4 2
4 {6 | 5|2 3|7 802|414
838919337 ]0]3
3214 |1 3|4 |1 9 (2| 7
1 0] 6 3 - 6 | 0| 4
(ichibiauw) | 6 X 6 =36 o | X7 =40
oranje) | 5 X8=40 et | s | oxg=s1
gy | 6Xx3=18 9 | 5x7=35
(Gonkerblauw| 4 X7 =28 o oeny| 8X4=32
ooy | 8X9=72 ol | 9x6=54
pasrs) | ©X5=30 Wz | 7x8=56

Klaar? Oefen 10 verhaaltiessommen op www.verhaalsommen.nl. Daarna mag je een rekenspelletje spelen!



http://www.verhaalsommen.nl/

